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Let him qualify and teach in the same case — ;77572 51n%1 29D

OVERVIEW

"7 ruled in our 7wn that (even) 2°w1 “v’ and 2772y MINW are WD by
mRro7y. They are only 909 if they are done by laymen. The &7n3 qualified
this ruling of w"9 that Mx>7y are only valid if there are '77°0n *7v and the
MX7 have o°pram nmaw.? The 8 nx asks, ‘why does w"1 (merely) say that
mu»Ta are 7109, when he should have said that even MRy are 7109 if they
do not have 2°pn2m Mnw?’ Our MdOIN explains why the X773 did not ask a
stronger question.

MooIn asks:
— PNNNNT RN Y YUPIN NATTIN 9NN ON)

And if you will say; on the contrary, the mwn itself is difficult according to
this explanation that there are 77°0n >7¥ and the NMX>7Y have 2°pn2m MW -
—>1pona2m MNIYI 19501 1Y NIINT 1159 1>1072 19D NNy

Why does w"1 say that o°w1 v°x are 9102 by laymen; since there are 7y
mvon and PR N ?!? What is the advantage of X3 over Mu»Ta?!

mooIN answers:

— DY) YV VTN 1PINT 9D YN

And one can say; that we make a decree and invalidate 2wz w3 if a w»TH

signed it -

— 119°01 1¥a GN VTN VDT MIVY INY IVN

Because of other mmuw which are o5 by a ©v177 even with 7902 7v
9%, The reason these are 7109 is -

— *MIN99Y3 1135 19501 1Y K92 PYWINY SN N1YT

! This validates the 2.

* This assures us that we will not use the Mx7y for 7770 7.

St distinguishes (by 0>72y *117nw1 0°w31 *v3) between N3y (which are 7w) and nMw171 (which are 9109).
It is evident that all the other factors are the same. This indicates that by nmu17 they are 2109 even if there
are 717°01 *7¥ and the mMv17i7 have 2°piam Nw (for it is only in this situation that NIX37Y are Ww2).

* The advantage of mooN question is that it actually challenges the ruling of w"A (that 2w *v>3 are 9109 by
muv1T); whereas the X3 merely questions why w" did not teach us a greater novelty (that even by nxo>7w
it is 709 by o°pram arXw nnw), but it does not challenge his statement (that 2°w3 >0 are 2109 by nWT7).

> We have 77°on *7v who validate the 3 (for *n13 77°0n *7¥), and even though mu1Ta 0"y signed it, since
they have o°pii2m nnw there is no concern of 12107 7™ 17, just like by NI,

® myow xw (which are merely for proof) are w3 by N7y (even without 2XWw> 77°0n *7V) because we
assume the NX37Y are telling the truth. However, n1Muw aXw by murTi without 77701 79 are 2109 because
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Because we may come to be 9°w>% other m7vw without 779°02 >7¥ just like
MINSTY (which are 7w by n1vw XY even without 71°0n 7).

In summation: we are M3 that MY77 by MIVW IRW are 7109 even with MY 77°0n 7Y
0°p21m because we may use the Mv77 without 77°01 *7¥ (which is X171 2109 because the
murTa are not truthful). We are then M3 by o°w1 "v°x which are done 77°0m >7¥2 with
M7 because of MAVY XY by murTa.®

mooIn anticipates a difficulty to what he said that we are NMIVY IRW 1OKX QW1 V3 N
— 19501 1¥a VTN MIVY INY YHDOY 91):‘! 199N TINDAT 2) UY 4N

Even though that shortly we find that even the 3129 who invalidate =“Nw

n1uw by a v177 (even) with PRI 79501 979, nevertheless -
— VY ION 19291 KYY BOWI 502 PPWaN

They are v1772 >won by 2w w3, and they do not make a 779973 to be

W1 v 701 on account of MWW XYW, so why does mdoIN assume that w"A
maintains that there is a 77°13?

mooIn replies:
£ PNINNT RIN NPT NI NOVIP MWYY X2N 9139 191 KD 0PN Yon

Notwithstanding the above that the 7127 in the Xn>72 are not 7M3, the X923
could not have presented this as a difficulty (why are 5105 w1 v by
murTa according to w'"7), because perhaps the Xin of our mw» (including
W) IS TTIA by NMNLW IRW WX 2W1 0.

SUMMARY

the MVYT are not to be trusted that they are telling the truth. We therefore do not allow n170w IWRw2 MO
even with 77°0n »7¥ out of concern that if we allow it with 77°0n 79, people may mistakenly allow it even
without 77°0n >7¥ which is 2109 (as mentioned above) for they will mistakenly compare it to NX37y, which
is MY IRW3 W even without 77701 Y. Since MIVW XKW by MuT is always 2109 [even with 77001 7y
(as mentioned above)], therefore we restrict even 0’1 v by M1 71 out of concern that if we would allow
w1 v (with 77701 *7¥) we may allow nnvw Rw by mwrTia (with 77°0m 7y and eventually even) without
17°01 7Y,

7 However 0°w1 *0>3 by MIX37y are 77°0n 792 W because there is no 7773 since MW “XW2 the NN are
always “w> (even without 717°0n »7v) for we assume they are saying the truth. There is no 77°12 by nMX>7Y
with 777701 »7¥ that perhaps it will be done without 717°0n *7¥ for there is no basis for this concern, since we
maintain (in this discussion) that *n13 77701 7v.

¥ See X"wnn who states that this is not considered a 77°13% 7771 See “Thinking it over’ # 1.

° The X2 shortly cites a Xn»12 (on this 71Y) that *"aR" stated that the n12mn between ¥"1 and the o°nom is
only regarding N7 v that ¥" is °wan (by all Mnvw) and the 2751 are NNVY IRW2 MVYTI VY is)b)
but not by 072y >NINW1 2°W1 L.
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D°W1 "W by ML are 9109 (even with P8 77°07 7Y and DM Nnw).
We are 13 that °w1 *v%) are 7109 because of MIwY XY by mwrIn (even)
with 777°0n ¥ which in turn are 9109 because of N1V IRW without 777°07 7V

THINKING IT OVER

1. The & nx asked that instead of w"- stating that M7 are 7100 (by v
ow1), he should have stated that even MmX>7v are 7109 if it is not nMAY
D°p7vA. MdOIN taught that 2wl *v°x are 7105 by MWVTI because we are M3
MYY IRW WX (with 77°07n 7)) and 77°07n 7Y X722 MUY XY 10X (which 1is
somewhat of a 77 1% 77°1)."° It would therefore appear that the 177 that 0
W1 are 700 by M7 (even with 770 >7¥ and 2°pa2m Maw) is a greater
v TN (since it is like a 771 7°m)'! than the 77 that o°pR2m oY Mnw are
2105 by mX27Y (which is merely one 77°13 that they will use the nX>7y for 7w
77°0n). What is the s'8m3 question?!'

2. According to Mmoo we invalidate [two cases] both oW1 v and W
M by M (with 77°0n "7Y) because we may be 7°won [one case] by
MY XY without 77°07n 7Y (since NMIRDIY are N without 7701 7).
Seemingly it would have been better to invalidate NW37¥ [which is only one
case] without 77°07 >y by mIvw XY (because of MurTa by nvw WRw
without 77°0n °7¥) and to be 7°won both MVY W and o°w1 *v°) with 7Y
77°on by murTa."

10 See footnote # 8.

' Especially according to the X1pon (see following 7wy "7 nmoon [footnote # 2]) that by 0w *u if there
are 1P NYAWY 77°01 7Y it is WD even by muvrTa.

2 See H"wmn and (R "W

3 See 7™w o',
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